
SAP ABAP table ROIUVL_STTR {Severent Tax}

ROIUVL_STTR

PRI_GEO_LOC [CHAR (2)]

LAND1 [CHAR (3)]

SEVT_TAX_TY [CHAR (2)]

TAX_CLASS [CHAR (4)]

SCHOOL_DIST_CD [CHAR (3)]

SEC_GEO_LOC [CHAR (3)]

OIU_CM_LXPGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

 ROIUVL_STTR-PRI_GEO_LOC = OIU_CM_LXPGL-PRI_GEO_LOC 
0..N

1

OIU_CM_LXSGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

SEC_GEO_LOC [CHAR (3)]

 ROIUVL_STTR-SEC_GEO_LOC = OIU_CM_LXSGL-SEC_GEO_LOC 0..N

1

OIU_CM_SCHDCD

MANDT [CLNT (3)]

SCHOOL_DIST_CD [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

LAND [CHAR (3)]

 ROIUVL_STTR-SCHOOL_DIST_CD = OIU_CM_SCHDCD-SCHOOL_DIST_CD 
0..N

1

OIU_CM_SEVTGRP

MANDT [CLNT (3)]

MAJPD_CD [CHAR (1)]

COUNTRY [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

SEVT_TAX_TY [CHAR (2)]

 ROIUVL_STTR-SEVT_TAX_TY = OIU_CM_SEVTGRP-SEVT_TAX_TY 

0..N

1

OIU_CM_TAXCLS

MANDT [CLNT (3)]

COUNTRY [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

TAX_CLS [CHAR (4)]

 ROIUVL_STTR-TAX_CLASS = OIU_CM_TAXCLS-TAX_CLS 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ROIUVL_STTR-LAND1 = T005-LAND1 

0..N

1


